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ABSTRACT

This article gives an analysis of the results of the third annual CGE as well as a comparison to simi-
lar results on previous exams. The paper assesses the strengths and areas for improvement for Greek
students along with recommendations for improving scores. These recommendations encourage stu-
dents to learn vocabulary, forms and constructions found in the syllabus for the CGE. The average
score of the 2011 CGE was about 8% lower than the average of the 2010 exam. A variety of causes
may be at work here: 1) The reduction of questions asking students to translate from Greek to Eng-

lish and 2) a significant increase in the number of students taking the exam may be another factor.

In March 2011, 370 students from 33 colleges and universities took the third annual Col-
lege Greek Exam (CGE), a national exam for students of ancient Greek, typically given in their
second semester of a college sequence. This article gives an analysis of the results of the 2011
CGE as well as a comparison to similar results on previous exams. The average score of the 2011
CGE was approximately 8% lower than the average of the 2010 exam. A variety of causes may
be at work here, including the reduction of questions asking students to translate from Greek to
English (as opposed to translating from English to Greek) and a significant increase in the number
of students taking the exam. The paper also assesses the strengths and areas for improvement for
Greek students along with some recommendations for improving scores. These recommendations
encourage students to learn vocabulary, forms and constructions found in the syllabus for the
CGE (published in the last issue of 7CL). As the inclusion of material in the syllabus is based on
frequency in Greek texts (these are forms and vocabulary students are most likely to encounter),
students may not only benefit in improving their test scores but also may gain in their ability to
read Greek.

DEVELOPMENT AND PHILOSOPHY OF THE COLLEGE GREEK Exam

The origins of the CGE arose from the desire to institute a separate national exam for col-
lege and university students of ancient Greek, parallel to the National Greek Exam (NGE) which
is designed primarily for high school students. The CGE generally follows the format of exams
such as the NGE and the National Latin Exam (NLE), but has a syllabus, vocabulary lists, and
expectations geared specifically for first year students at the college level. Given the great diver-
sity of pedagogical approaches and order of presentation of grammatical material found in Greek
textbooks, the CGE does not follow any one textbook (see Appendix 2 on textbooks). Rather than
adhere to a particular approach, presentation, or textbook, the syllabus for the CGE bases the in-
clusion of grammatical material and vocabulary on frequency (Mahoney; Major, “Frequency”).
Through computer searches, it is now possible to quantify the forms and vocabulary that students
are most likely to encounter in reading ancient Greek texts. Such searches at times produce some

1 I wish to thank the Editor of TCL and the anonymous readers for their many helpful suggestions.
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surprising results; for example, the subjunctive and optative occur very rarely (Mahoney). This ex-
ample alone has many implications for pedagogy (Major, “On Not Teaching Greek™). For a more
detailed exposition of the philosophical background for the CGE, see Major-Watanabe (this article
also includes copies of the pilot and 2009 CGE).

OVERALL STATISTICS

The table below presents the overall statistics of the first three College Greek Exams (2009-
11) plus the 2008 pilot exam. The exam consisted of 40 multiple-choice questions divided into two
parts. The first 30 questions were grammar questions, while the last ten asked students about a
reading passage (more specifics in the next section). The number of students and institutions tak-
ing the exam is given first. The high score follows, with the number of students who achieved this
score in parentheses. The highest possible score in all cases was 40. The last two rows give the
overall average and median scores. The overall average then is broken down into the average score
for the thirty grammatical questions and the average score for the ten questions on the passage.

Table 1. College Greek Exam Year-by-Year Overview

2008 Pilot 2009 2010 2011
No. of students 78 311 239 370
No. of institutions 10 35 24 33
High Score 36 (3) 38 (5) 40 (2) 39 (1)
Overall average 58% 62.06% 64.58% 56.7%
Median 55.6% 62.55% 65% 57.5%
Average Q1-30 57.78% 62.91% 65.5% 57.28%
Average Q31-40 58.46% 59.54% 66.57% 57.14%

In the short history of the CGE, the largest number of students took the exam in 20112 As
can be seen, this year’s average and median dropped somewhat from the scores in the previous two
years. In 2011, there were no questions in which students scored in the 90 percentile range, while
students scored in the 80 percentile range in only three questions.

FOoRrRMAT AND ANALYSIS OF THE 2011 CoOLLEGE GREEK Exam

The exam consisted of 40 multiple-choice questions divided into two parts. The first part
consisted of 30 grammar questions. The majority of questions asked students to identify isolated
grammatical forms (e.g. give the dative plural of ypdupa). There were also three questions ask-
ing students to transform isolated grammatical forms (e.g. give the plural form of contract verb
gyéha). The last ten questions of the exam analyzed a short Greek passage based on Lysias 24.5-7
in which the speaker appeals to have his disability pension from the state continued. Here the stu-
dents identified grammatical forms in context and answered comprehension questions. The results
of the exam are analyzed according to grammatical categories. For reference, a copy of the 2011
exam has been included as Appendix 1. The percentage of students marking each answer is given
in parentheses after that answer. In using terms such as “very well,” etc., I employ the following
scheme: very well (90% and above); well (80-89%)); fairly well (70-79%); not very well (60-69%);
and poorly (59% and below).

2 Of the 24 institutions who participated in the 2010 exam, 21 participated again in the 2011 ex-
ams. These 21 institutions comprised 267 of the 370 students who took the 2011 exam.



Teaching Classical Languages Fall 2011
Watanabe 46

Nouns, adjectives, and pronouns

There were several questions asking students about cases and their function. In the first part
of the exam, two questions on nouns asked for the dative forms. Q(uestion)6 asked for the dative
singular of yvvr|. Here 63.7% answered correctly. Another 15.9% chose the vocative yovat. These
students rather interestingly knew that the dative singular ended in 1, but ignored the third declen-
sion stem change. The remaining students split evenly (9.9% each) beween yvvaué&i and yvvaikog.
Q15 asked for the dative plural of ypdppa. Here 72.8% gave the correct answer. The only signifi-
cant distractor was the dative singular at 15.4%. In the case of these two questions, a little more
emphasis on the distinction between dative singular and plural endings in third declension nouns
would bring these scores up. Additionally on the passage students were asked in Q38 about the
function of toyn in the phrase kwvovvedow Vmo T yorenwtdtn yevécBon Toym. Here 50.8% cor-
rectly saw that tOym was part of the prepositional phrase; 23.9% thought it agreed with yevécOau;
19.8% took it as the object of kivdvvedow. The separation of thyn from the prepositional phrase
misled a significant number of students.

On the passage two questions asked students to distinguish between nominative and ac-
cusative neuter forms. Q37 questioned students on the case and function of yprjuata. Here 65.9%
saw that it was the nominative subject of £€otv. Students did not fare as well on the case and num-
ber of movnpa in Q39. Only 37.9% saw that it was the accusative plural object of ndoyetv. Another
33.2% guessed that it was accusative singular. This group seems to know that movnpd must be ac-
cusative but did not realize that -a could not be a singular ending unless the noun was in the third
declension. The rest of students took it either as nominative singular (17%) or nominative plural
(11%).

There were also two questions on the agreement of the article with a noun. In Q2 only 14%
correctly identified td as the article agreeing with the neuter plural £€0n; 79.9% matched up endings
and chose the feminine article 1. For Q28 48.4% correctly saw that ToD was the article correspond-
ing to matpoc, while 36.3% mistook moTpdg as a 2™ declension nominative and chose 6.

Questions on adjectives also centered on agreement. For Q13, only 19.5% of the students
saw that the feminine genitive dewvi|g agreed with DBpewc. The largest group of students at 40.9%
chose the masculine dewvod and another large group at 35.7% matched up endings, selecting the
adverb dewvdg. Students fared better on Q17, where 59.9% chose the nominative BeAtiov as agree-
ing with daipwv. Another 18.1% chose the genitive BeAtiovov. For Q22 students were asked to
pick the correct form of péyag to complete the sentence: Tiud tov deommtnyv. On this ques-
tion 46.4% correctly selected the masculine accusative péyav. Another 31% matched up endings
and selected the feminine accusative peydinv. On the passage, Q36 queried students on the case
and number of ovdéva, here functioning as a substantive “no one.” On this question, 42.2% cor-
rectly saw that it was accusative singular Another 21.2% took it as accusative plural and 19.8%
regarded it as nominative plural, not recalling that ovoeic does not have plural forms. Another
17.3% guessed that it was nominative singular.

In these questions of agreement it becomes clear that students often have difficulties putting
together adjectives and nouns of different declensions and tend to match the endings of adjectives
and nouns (a problem we also saw above in the case of agreement of articles and nouns). Students
would do well to learn the third declension nouns on the syllabus more thoroughly. They would
see that nouns with g-stems, such as &€0n, form the largest category of third declension nouns in
the syllabus. They would also know that nouns of the noAic-type on the syllabus, such as HBpewg,
are all feminine. It is also disappointing that students did not recognize such a common word as
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maTpoOg as a genitive singular. I found that even some of my better students made this error. Thus a
close examination of the third declension nouns on the syllabus (there are not too many of them)
would help the student do better on questions of agreement. As the inclusion of forms on the exam
is based on frequency, students would also benefit in their sight-reading abilities by learning these
forms. Instructors may also help their students by creating exercises testing them on these agree-
ment issues, since most textbooks do not have such exercises.

Q26 posed a question about comparison. Students were asked to fill in the blank in the
sentence: 0 ‘HpaxAfg €oti kpeittov f . Here the students were evenly split between
nominative and genitive forms: 28.6% chose the correct answer, 0 Ilepoeig; another 27.5% se-
lected t@dv ABnvaiov; 27.2% chose 10D Ilepoémg; a somewhat smaller group at 15.9% opted for
toig AOnvaioic. Here students need to be reminded that if 1] is used in the comparison, then the
comparands will be in the same case.

Three questions dealt with pronouns. In Q1, 57.4% saw that tadta derived from odtog. The
only significant distractor here was avtog, which 28% chose. As we shall see again in the discus-
sion of Q20 below and the comparison with previous exams, a0tOg serves as a significant distrac-
tor because the nominative feminine singular (and plural) forms of these pronouns (ot and avtn)
are quite similar. However, the breathing marks and accents will distinguish even these forms. For
Q18, students were asked to identify the case of cot; 64% correctly identified it as dative, while
25.3% thought that it was nominative. For Q34 (on the passage), students did fairly well in seeing
that the antecedent of the relative pronoun fjv was téyvnv; 72% answered correctly.

There were three questions about the translation of noun phrases, either from English to
Greek or from Greek to English. Often these questions dealt with the attributive or predicative
positions of adjectives and pronouns. In Q8, students were asked about the best translation into
Greek of “the same love;” 79.1% saw clearly that adt6g had to be in the attributive position in the
phrase 0 avtog €pwg. Students had more difficulty in Q20 in translating the phrase “these kings”
into Greek; 58% correctly chose o0tot oi BaciAeic, while oi avtoi Pactieig served as the most
significant distractor at 23.4%. As we saw above in Q1, students need to be reminded on how to
distinguish the forms of obtog and avtdg. Students did well on Q24, where they were asked to
translate the Greek phrase v 1@ iep®. Here 85.4% gave the correct answer.

Finally, Q4 asked about the translation of the phrase “most clearly” (the superlative adverb)
into Greek. In this case 76.6% chose capéotata. At 17% capéotepov was the only significant
distractor.

Thus, while students did fairly well on identifying the dative plural (Q15) and the compara-
tive adverb (Q4), they did poorly on the agreement of articles and adjectives with nouns, scoring
as low as 14% (Q2). As noted above, the students would improve their scores here if they spent
time in learning the third declension nouns on the syllabus and their oblique cases. Students also
had difficulties with comparison (Q26-28.6%). Instructors should make clear to students what the
construction will be if 1 is used. Also, students had difficulties in distinguishing forms of obhtog
and avtog (Q1 and 20). Here students’ scores would improve if instructors would reinforce which
forms are similar and how to distinguish them.

Verbs

Questions on finite verbal forms asked about the person, number, tense and mood. In Q16,
57.4% recognized eilysc as the 2" singular imperfect indicative of &ym; 22% chose the present
gyeg; 10.4% chose &Eeig, while the remaining 9.9% chose the alternate future form oynoeig. Here
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students did not recognize the augment in &iyeg; admittedly the augment is exceptional; but since
&y is such a common verb, students should be aware of how the augment appears.

For Q29, 69% saw that £idov derived from 6pdm. In Q3, 41.8% saw that £5wke (the only
-i verb on the exam) was aorist, while another 38.5% thought it was imperfect. Thus the majority
of the students recognized the augment. The low score on this question may reflect the fact that not
all had learned about -pu verbs by the time of the exam, since these are often found toward the end
of most textbooks. Given the frequency of -yt verbs in Greeks texts, it may be wise (not only for
taking the CGE) to teach them earlier in the course.’

On Q10 students did well in identifying the tense of kpOyete as future. Here 83% answered
correctly. However they did poorly on Q12, where they had to convert the 3 singular imperfect
of a contract verb &yéla to the plural. Only 9.3% saw that it was the 3™ singular imperfect and
gave the correct answer €yéhov; 45.3% thought that £yéha was a 1% singular imperfect and picked
gyeddpev; 27.2% chose &yedre; finally 17% chose €ygidto. While it would be good to reinforce
the various contractions that will occur with these verbs, I have also found it helpful to give stu-
dents a general sense about strong and weak vowels, i.e. showing them how o-sounds are strong
and a- and e- sounds will yield to these, etc.

Eight questions dealt with various moods: indicative, imperative, infinitives, and parti-
ciples. For Q32 (on the passage), 73.1% identified the mood of mémavpon as indicative.

In Q14, students had to select the Greek form corresponding to the command “ask.” Here
42.6% correctly chose the aorist imperative aitnoov; 26.9% opted for fjtnoov and 21.4% picked
fitouv, even though these are augmented forms; 8% chose aiticovca. Here the scores would have
improved, if students had eliminated the augmented choices. Furthermore, as we shall see in the
comparison with previous exams, students do not seem to be as familiar with aorist imperative as
with the present form, but the aorist imperative is a good place to see how well students understand
aspect.

On infinitives, Q7 asked about the tense and mood of BaAeiv; 49.2% took it as an aorist
infinitive, while 44.2% regarded it as a present infinitive. Students failed to recognize the aorist
stem PaA- and the circumflex on the last syllable. For Q19, 77.2% recognized teBepancvkévon as
a perfect infinitive. Q30 may also be grouped here as its answer is an example of indirect state-
ment. Here students had to find the equivalent of the phrase vopiCopev 811 ol otpati@dton neibovton
Nnuiv; 53.6% saw that the equivalent answer corresponded to the accusative-infinitive construction
in vopifopev tovg otpatidtag neiBecOot nuiv; 17.9% picked ol otpatidron vopilovotv meibecOon
nuiv; another 17.9% selected oi otpati@ton vopilovov &1t eBdpueda. These last two groups have
made ol otpatidton the subject of the main clause, ignoring the fact that the “we” implied in
vouilopeyv is the subject.

On participles, in Q5 students were asked to give the active participle corresponding to the
middle participle mpa&dpevor; 59.9% chose the aorist participle npa&avrteg, while 25 % picked the
future participle npaovtec. In Q11, students were required to replace the underlined words in the
phrase o1 moAitan £6iwéav kai Emavoay tovg inmovg with a participle; 56.6% correctly selected the
aorist participle diwEavteg; 19.2% chose the present participle didkovtec; another 17.9% opted for

3 At LSU we have moved the teaching of -yt verbs to earlier in the second semester, not merely for the sake of the
exam but more so to better prepare students to sight read a greater variety of texts which are used to supplement the
textbook. We also have asked students to focus on certain principal parts and forms of the verbs from the beginning
of the first semester. We emphasize the present, imperfect, aorist, participles and infinitives, as these occur most fre-
quently in Greek texts. This does not mean that we do not teach other tenses, etc., but rather we have tried to prioritize
the forms that occur most frequently (Major).
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duw&aoat, even though ol moAitat is masculine. This is a good question in testing whether students
understand how participles often replace clauses. In reading Greek texts this is such a frequent
phenomenon that it cannot be emphasized enough. It would repay teachers to work out exercises
along these lines. For Q25, students had to translate oi 610dcoKovteg (the participle used as substan-
tive); 60.7% correctly translated the phrase as “teachers,” while another 21.2% chose “students”
as their answer.

Thus, while students did well on identifying the future tense (Q10) and fairly well on
identifying the mood of a perfect indicative (Q32) and the perfect infinitive (Q19), they did poorly
on the remaining questions about verbs. They had most difficulty in converting the 3™ singular
imperfect contract verb to the plural (Q12: 9.3%). Here it may be helpful not only to reinforce the
various contractions but also to give students a general sense of strong and weak vowels. They
also found it challenging to identify the tense of a -t verb (Q3); it may be best to introduce these
verbs earlier than most textbooks do. It also may be good to emphasize more the use of the aorist
imperative in Greek as opposed to the present form (Q14).

Other types of questions

There were two questions on transliteration and English derivatives. For Q21, 56.6% cor-
rectly rendered Herodotus into Greek. The other answers began with Hepo-; thus students were
misled by the capital H, ignoring the rough breathing. In Q27, 55.2% saw that the English deriva-
tive of pavOdve was “math;” 16.8% thought the derivative was “empathy” and another 15.9 be-
lieved that it was “thanatopsis;” 11.5% chose “mantle.”

The only historical question (Q23) asked who fought for the Trojans in the Trojan War;
70.1% saw that the answer was Hector (all answers were written out in Greek).

Q09 asked students to accent the participial form t10epevog according to the rules of reces-
sive accents; 81% did this correctly.

There were four comprehension questions on the passage. Q31 asked why the speaker no
longer took care of his mother. Here 69.2% correctly answered that she had died (dmoBavodcav);
another 13.2% thought his father had taken her away, ignoring the fact that there is no mention of a
father and guessing that droBovodoov meant “to take away”; 12.6% believed that his father killed
her, perhaps misunderstanding dnoBavodoav as “killing” rather than “dying.” In this case about
30% of the students did not know what droBavodcav meant.

For Q33, the students were asked what the speaker explains about his children in the phrase
Tékva 8’ €v T® oik® oK EoTwv G pe Bepamevoet. On this question, 68.4% saw that the speaker had
no children at home to care for him; another 15.7% believed that the children would have no in-
heritance if the speaker lost his stipend, although there is no mention of a stipend.

Q35 asked about an extensive part of the passage: t€yvnv 6& Kéktnuatl pn Svvapévny
DOQEAETV, IV 0OTOG HEV YOAETMDG TPATT®, OVOEVA 08 OeEOUEVOV DTNV 00 dvvapat evpiokely. Stu-
dents were asked: “In lines 3-5 we learn that the speaker seeks someone who will . Here 43.4%
chose “assume responsibility for the speaker’s business.” Another 34.3% picking up on ®@eAelv
selected “help make the business profitable.”

Finally Q40 had students look at the last line of the passage: dikoimg ovv choaTé UE, O
dvopeg ABnvaiot, kai un kelebooté e movnpd mdoyev ddikmg. The question was: “what does the
speaker tell the jurors to do and to avoid doing?” On this question 49.5% answered correctly: “save
the speaker and not let him suffer.” Another 18.1%, picking up on the adverbs at the beginning and
end of the sentence, chose: “preserve justice and not permit injustice.” Another 15.9% chose: “save
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the Athenians from injustice and forbid unjust dealings;” these have ignored dwaiwg at the begin-
ning of the sentence and made the vocative into the object of caocaté. Finally 14.8% selected:
“preserve the rich justly and not let the poor suffer unjustly”; there is no mention of rich or poor
in the sentence, although students may be understanding movnpd as meaning “poor.” Overall the
scores declined as the students progressed into the second half of the passage.

Thus the students performed well on the recessive accent and fairly well on the historical
question. However they did poorly on the English derivative of pav0déve and not very well to
poorly on the comprehension questions.

ComprarisoN WITH THE 2010 CGE

There was a decline in scores in the 2011 exam from the 2010 exam. As noted above, 370
students from 33 institutions took the 2011 exam; there were 239 students from 24 institutions tak-
ing the 2010 exam. The 2011 students scored an average of 56.7% and the median score was 23
(57.5%), while 64.58% was the average and 26 (65%) was the median score for 2010. For 2011
the high was a 39 scored by one student, while in 2010 two students had perfect scores of 40. The
low score was a 5 (12.5%) for 2011; for 2010 this was a 10 (25%).

Between the two exams, there were no questions which were the same as in past years,
but several questions were similar in content but differed in question format. These questions are
examined by grammatical category below. At times reference will be made to earlier exams since
questions on the earlier exams often provided closer parallels to those on the 2011 CGE. At times
these questions also provide a larger perspective on student responses. As we shall see, these com-
parisons show that some of the issues raised above (e.g. about difficulties with adjective-noun and
article-noun agreement) are not isolated to the 2011 exam.

Nouns, adjectives and pronouns

On nouns, both the 2010 and 2011 exams asked for the dative plural of a third declension
neuter noun. The possible answers for each noun were the same: genitive singular, dative singular,
dative plural, nominative-accusative plural. For Q15 in 2011, 72% gave the correct form of the
dative plural of ypéppa. The only significant distractor was the dative singular at 15.4%. For Q23
in 2010, 77.4% correctly chose the dative plural form of mpdypa. Again the dative singular was the
only significant distractor at 15.5%.

On articles, there were two similar sets of questions on article-noun agreement. The first
set asked students to match the article to a third-declension neuter noun with the stem ending in
o (-€0). The choice of answers was the same: 1), ai, 16, 4. For Q2 in 2011, only 14% saw that 14
was the article for £€0n; 79.9% matched up endings and chose 1. Q1 on the 2010 exam asked for
the article for yévn; 8.4% picked 16, while 86.6% chose 7). Thus students continue to be unfamiliar
with this noun type. This impression is reinforced on earlier exams when students were asked to
give the accusative plural of a noun of this type. For Q2 (2008), 20.51% gave the correct form of
vévog; on Q2 (2009), 38.9% correctly chose TéAn. In both question formats, the students performed
poorly with third declension &-stem nouns.

The second set of questions on article-noun agreement dealt with more familiar nouns. The
possible answers were: 0, 10, T00g, T0D. Q28 (2011) asked students to find the article for moatpog.
48.4% gave 1oV, while 36.3% picked 0. For Q24 in 2010, students were asked to find the article
for avopdg; here 39.7% chose 10D, while 51.9% selected 6. Given that these are familiar nouns,
these percentages suggest that third declension nouns are acquired at a slower rate than first and
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second declension nouns and that instructors should develop more ways to practice third declen-
sion nouns.

Similar difficulties arise on adjective-noun agreement. Q13 (2011) and Q25 (2010) asked
students to match a second declension adjective with a third declension noun. For 2011, 19.5%
correctly saw that dewvijg modified BBpewg; another 40.9% chose devov; 35.7% picked devddc. In
2010, 28% matched up kakfg and néAews; another 39.7% selected kakod; 26.4% matched up end-
ings with xak®c. In both years, the majority of students recognized that the words were genitive
(60.4% in 2011; 67.7% in 2010), but were unsure of the gender of the nouns. A significant number
simply looked for the same ending (6ewvidg BPpewc and kaxdg mOAewc). The drop in score from
28% (2010) to 19.5% (2011) may have been due to the familiarity of the words, so that the students
did better with the more well-known forms of kaxdg,-1,-6v and moAc.

The low scores in earlier exams on adjective and article agreement with nouns reinforce
the impression from the 2011 CGE that this is a problematic area. A greater familiarity with 3%
declension nouns and their oblique forms (especially those that contract) would help remedy this

situation.
Q26 (2011) and Q12 (2010) were about comparison. In 2011, students were asked to com-
plete the sentence: 0 ‘Hpaxifig €01l kpeittov 7 . Here the students were evenly split

between nominative and genitive forms: 28.6% chose the correct answer 0 Ilepogdc. The other
answers were: T@v AOnvaiov: 27.5%; tod [epcséwc: 27.2%; toig ABnvaiowg: 15.9%. In 2010, the
sentence read as follows: 0 Zoxpdng €6t GOEMTEPOS T . Here 41% correctly chose 0
Evpwniong. The other answers were: t@v dALov avopdv: 21.3%; toic Aol dvdpdot: 20.9%; 10D
Evpuridov: 16.7%. On this question, there was a drop of more than 10% in the score. It is likely
that the irregular form kpeittwv was less recognizable as a comparative form than copmtepog.

On pronouns, for all four years, students were asked about demonstrative pronouns in the
following way: X is a form of which word? In Q1 (2011), 57.4% saw that tadta derived from
oVtoc. The only significant distractor here was a0tog at 28%. The other answers were: tic: 11.8%
and ovoeig: 2.2%. Q11 (2008 and 2009) also asked about the tadta. For 2008 the distribution was
as follows: 00tog: 62.82%; antoC: 34.62%:; TomOG: 2.56%:; 00deic: 0. For the 2009 the distribution
was: 0010G: 62.4; avtog: 28.9%; ékeivog: 6.1%; 00deic: 1.6. Thus one answer varied each year and
av1og remained the most significant distractor. Overall the students hovered around 60%. Q16 on
the 2010 exam is not comparable, since it asked about todto and adyt6¢ was not among the possible
answers. Here 96.7% gave the correct answer.

Students were also asked about the predicative position of the demonstrative pronoun in
the following way: “The best translation into Greek of the words these Xs is?”” For Q20 in 2011
58% saw that oDto1 oi Baciheic was the correct translation for these kings, while oi avtoi Bactieig
served as the most significant distractor at 23.4%. The other answers were: Bactrels tivec: 9.9%; ot
Baotleig avtoi: 8.2%. For Q28 (2010) 66.5% saw that these soldiers should be translated as oOtot
ol otpati®tat;, again oi avtol otpatidTon was the most significant distractor at 18.4%. The other
answers were oi otpatidtot ovtoi: 7.5%; ol otpatidtor obtmg: 7.1%. In both questions, the form
ot avtoi was the most significant distractor. As seen in the last two paragraphs, the confu-
sion of forms of o0tog and adTdC was not limited to the 2011 exam.

Finally, every year a question on the superlative adverb has been asked. This year (Q4)
students were asked to translate the phrase “most clearly” into Greek. In this case, 76.6% chose
capéotata. The most significant distractor was cagéotepov at 17%. In 2010 (Q13) students were
asked to translate the other way, from Greek to English, and 82% saw that the best translation of
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aAnBéotata was “most truly.” Again the comparative “truer” was the only major distractor at 13%.
In this particular comparison it is unclear whether the 5.4% difference is because students were
asked to translate from English to Greek rather than from Greek to English, or whether it is due
to other factors that caused overall scores to drop in 2011. By contrast, in 2008 (Q16) and 2009
(Q16) students were asked for a form, the superlative adverb of co@dg and yaAendg respectively,
and the scores were much lower than those on the 2010 and 2011 exams. For 2008 35.9% gave
the correct form; 38.46% chose a made-up form copwtdtmg; 23.08% picked copmdtepov. In 2009
45.3% answered correctly, while 25.6% chose yoienotdtov and another 16.4 chose yaienmdtepov.
For 2008 and 2009 the form of the question (asking for a grammatical form) and the inclusion of
another superlative form among the possible answers resulted in lower scores. It should be noted
that after the 2008 exam no made-up forms were included as possible answers.

Comparison on similar questions on previous exams (however limited it is) provides a
useful perspective on some of the issues raised in the analysis of the 2011 exam. These include
adjective and article agreement with nouns especially of different declensions, comparison, and
the confusion of some forms of oOtog and avToc.

Verbs

There were three comparable questions on finite verbs. Over the past four years students
have been asked about the tense of the 3™ singular aorist indicative of a -yt verb. All four years
the answers were in the same order: present, imperfect, aorist and perfect. This year (Q3) 41.8%
saw that £€dwke was aorist, while another 38.5% thought it was imperfect. In 2008 (Q8), 34.62%
regarded &dmxe as aorist, while 46.44% took is as imperfect. In 2009 (Q8) and 2010 (Q27), the
question was about €0nke. For 2009, 47.3% opted for the aorist, while 17.7% thought it was im-
perfect; for 2010, 42.7% considered £€0nke as aorist, while 19.7% thought it was imperfect. It is
interesting that when &€0nke was the verb, the perfect became a significant distractor: 32.8 % in
2009 and 32.6% in 2010.

Students did well in identifying the future forms in Q10 (2011) and Q9 (2010). The an-
swers for both questions were in the same order: perfect, aorist, future and present. In 2011, 83%
saw that kpOyete was future, while 84.5% regarded ypdwyete as future in 2010.

Finally on all four exams there was a question on the aorist imperative. On three of the ex-
ams the question took the form: Which of the following gives the command “X?” In Q14 (2011),
the command was “ask.” Here 42.6% correctly chose the aorist imperative aitncov; 26.9% opted
for fjtnoov and 21.4 picked fjtovv, even though these are augmented forms; 8% chose aitfcovca.
For 2008 (Q19) and 2009 (Q19) the command was “listen,” a more familiar verb; however here
the scores were lower. In 2008, 21.79% correctly chose dikovcov; the remaining answers were aug-
mented forms: fikove 39.74%; fikovce 26.92%; ficovov 11.54%. For 2009, 29.6% chose the correct
answer. The other answers included two augmented forms: fjkovce: 39.2% and fjkovov: 5.8%. The
fourth answer was the present imperative dixove and not surprisingly it was selected by 25.4%. Q2
on the 2010 exam was different, asking for the tense and mood of éikovcsov; here 42.7% said that
it was aorist imperative. One would expect this score to be higher since students are identifying
a Greek form rather than producing it in Greek, but the answers “future indicative” at 30.1% and
“aorist indicative” 20.5 proved to be significant distractors.

On participles, Q5 (2011) and Q21 (2010) required students to convert the aorist middle
participle into the active form. For 2011, the middle participle was mpa&dpevor; 59.9% chose
npa&avteg, while 25 % picked the future participle npd&ovtec. For 2010, the middle participle was
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ypaydpuevol. Here 64% correctly chose ypayavtec, while the future participle ypdyovteg was the
most significant distractor at 31.8%.

Thus, students did well in identifying the future in 2010 and 2011, but they did poorly on
- verbs and the aorist imperative all four years. They performed poorly in converting the aorist
middle participle to the active.

Other types of questions

The questions on transliteration can also be compared, since they dealt with names which
began with H in English. There was a significant drop in score here. For Q21 (2011), 56.6% cor-
rectly rendered Herodotus into Greek. The other answers all began with Hepo- or Hnpo-; thus
students were misled by the capital eta, ignoring the rough breathing. For Q20 (2010), 84.1% were
able to transcribe “Homer” from English into Greek. Here two of the possible answers began with
Hop- and one with "Op-. The possibility of transliterating eta as “¢” may have led to more confu-
sion on this question.

Finally the comprehension questions on the exams differed in number. For 2011, there
were four comprehension questions (Q31, 33, 35, 40), whereas Q38 was the lone comprehension
question on the 2010 exam. The lack of comprehension questions was a significant criticism of the
2010 exam in last year’s report. Thus more questions were included on the 2011 exam. It is dif-
ficult to compare these questions, since the passage differs every year and therefore the questions.
The chart below presents the results of comprehension questions for the past four years, giving the
number of comprehension questions, the average of the scores of these questions and the average
score of the last ten questions of the exam on the passage. I have also added the average scores for
Q 1-30 in the last row for comparison.

Table 2. Comparison of Comprehension Questions with Other Sections of the CGE

2008 2009 2010 2011
No. of comp. questions 2 4 1 4
Avg. of comp. questions 67.74% 59.55% 62.3% 57.63%
Avg. of Q 31-40 58.46% 59.54% 66.57% 57.14%
Avg. of Q 1-30 57.78% 62.91% 65.57% 57.28%

Except for the 2008 pilot exam, what is striking about these scores is how close the scores
of Q 1-30, Q 31-40, and the comprehension questions are. These results seem to imply that there
is a close correspondence between the students’ abilities to analyze and translate individual words
and phrases and their ability to read and comprehend a passage—a desirable result. We shall see
on future exams whether this correspondence continues.

CONCLUSION

I conclude with some general considerations and then turn to specific points about strengths
and weaknesses of students on the 2011 CGE. As noted at the beginning of the article, there was
just under an 8% drop in the average score from the 2010 CGE (64.58%) to that of the 2011 exam
(56.7%). In 2011, students performed nearly the same on both sections (Part I: 57.28%; Part II:
57.14%). The chart below shows the distribution of how many exam questions the students an-
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swered correctly at a particular percentile range (90% and above, etc.) for the 2010 and 2011 ex-
ams. For each exam I first give the results for Q 1-30, then Q 31-40 and then the combined total.

Table 3. Number of Questions Answered Correctly by Percentile Range

Percentage 2010 2010 2010 2011 2011 2011
1-30 0 31-40 Totals 0Q1-30 0Q31-40 Totals
90s 3 0 3 0 0 0
80s 5 3 8 3 0 3
70s 8 2 10 4 2 6
60s 5 2 7 5 3 8
59 or lower 9 3 12 18 5 23

As can be seen, students on the 2011 exam did not answer one question in the 90 percentile
range and only three in the 80% range—a drop from what is found on the 2010 exam. More signifi-
cantly the 2011 students scored 59% or lower at almost a 2-to-1 ratio over their 2010 counterparts.
They scored 59% and below on over half the questions of the exam, while the 2010 students had
these scores on a little over a quarter of the questions.

When we can compare similar questions between the two exams, we find that the 2011
examinees did better than the 2010 students on Q2 (cf. Q1 on 2010) on matching the article with
neuter -6 stem nouns (e.g. £€0n) and Q28 (Q24 on 2010) on matching the article with 3 declen-
sion nouns (e.g. motpog). They scored about the same on Q3 (Q27) on identifying the tense of a
- verb, Q10 (Q9) on identifying the future tense, and Q14 (Q2) on the aorist imperative. They
had more difficulties on Q5 (Q21) on converting the active to the middle participle, Q15 (Q23)
on identifying the dative plural of 3™ declension neuter noun, Q20 (Q28) on translating the phrase
“these Xs” into Greek, and Q26 (Q12) on comparison.

Table 4. Comparison of Similar Questions on the 2010 and 2011 CGE

Type of question 2010
matching the article with neuter -ec stem Q1 (8.4%)
nouns

matching the article with 3™ declension Q24 (39.7%)
nouns

identifying the tense of a -pu verb Q27 (42.7%)
identifying the future tense Q9 (84.5%)
the aorist imperative Q2 (42.7%)

converting the middle to the active
participle

identifying the dative plural of a 3™
declension neuter noun

translating the phrase “these Xs” into
Greek

comparison

Q21 (64.0%)

Q23 (77.4%)

Q28 (66.5%)

Q12 (41.0%)

2011
Q2 (14.0%)

Q28 (48.4%)

Q3 (41.8%)
Q10 (83.0%)
Q14 (42.6%)
Q5 (59.9%)

Q15 (72.8%)

Q20 (58.0%)

Q26 (28.6%)
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Given that the average scores for both sections of the exam were lower by about the same
amount, any explanation of this drop in score would have to take into account the students’ abilities
both to identify forms and to comprehend passages in continuous prose. One possible explanation
may be the increase in the number of students taking the CGE. As noted above, this year the largest
number of students took the exam since its inception. Such an increase may mean that the students
represented a broader range of experience and ability than in previous years. It may also be that
some of the questions as well as the passage were more difficult this year (e.g. Q12, where students
were asked to convert the -a contract verb €yéha to the plural—9.3% answered correctly).

Finally, one other factor in the decline of scores (especially on Part I) may have been the
reduction in the number of “best translation” questions from Greek to English on the 2011 CGE.
As noted in last year’s analysis of the 2010 CGE, there were more questions asking for “the best
translation” of a Greek word or phrase on the 2010 exam than on previous exams. It was suggested
there that it is easier to translate from Greek to English than English to Greek. On the 2010 CGE,
there were ten of these questions (one on the passage), while these were reduced to three (QS, 20
and 24) on the 2011 exam. The creators of the 2011 CGE consciously made an effort to reduce the
number of “best translation” questions. However, since the number was reduced, there is only one
question that we can compare between the 2010 and 2011 exams in which there was a shift from
translating from Greek to English to translating from English to Greek. Q4 on the 2011 exam asked
students to identify which Greek form corresponded to the superlative adverb “most truly.” Here
76.6% answered correctly. For Q13 on the 2010 exam students were asked to translate dAn0éotata
into English and 82% gave the correct response. However, one comparison is insufficient to try
to resolve this issue. Reviewing the “best translation” questions on the 2011 and 2010 exams, it
seems clear that often students did well (e.g. 2011 Q24: the best translation of &v 1& iep®d = 85.4%)
but they also (less often) did poorly (e.g. 2010 Q10: best translation of &pyn = 39.3%). As more
data is collected over the next few years, it may be easier to see how much of a factor translating
one way or the other is or whether other factors are involved. These then are some speculations on
the decrease in the scores of the 2011 exam.
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ArpPENDIX 1. THE 2011 CoLLEGE GREEK ExaMm.

TIME: 50 MINUTES DO NOT USE A DICTIONARY

Write YOUR NAME at the top left-hand portion of your answer sheet. Write YOUR LAST NAME FIRST. Be sure
to FILL IN THE BUBBLES under your name. DO NOT change the identification number on the sheet nor add any
additional information.

Mark the correct choice ON YOUR ANSWER SHEET. There is only one correct answer/choice for each question.
Choose the BEST POSSIBLE ANSWER.

1. tadta is a form of which word?

a. antoc (28.0%) c. ovtocg (57.4%)
b. tic (1.8%) d. 00d¢ic (2.2%)
2. The correct article for the noun €0n is
a. M (79.9%) c. 70 (4.1%)
b. ai (1.6%) d. 14 (14.0%)
3. The tense of &dwxe is
a. present (3.3%) c. aorist (41.8%)
b. imperfect (38.5%) d. perfect (15.9%)
4. In Greek, “most clearly” is most accurately rendered as:
a. capég (0.5%) c. capéatepov (17.0%)
b. capde (5.5%) d. cagpéotata (76.6%)
5. The active participle that corresponds to the middle participle npa&éypevor is
a. mpaavteg (59.9%) c. mpa&opevol (9.1%)
b. mpaovreg (25.0%) d. mpattopuevot (5.2%)
6. The dative singular of yvovr is
a. yovan (15.9%) c. yovou&l (9.9%)
b. yovauxki (63.7%) d. yovadikag (9.9%)
7. The tense and mood of Palelv are
a. aorist infinitive (49.2%) c. imperfect indicative (2.7%)
b. perfect infinitive (3.8%) d. present infinitive (44.2%)
8. The best translation into Greek of the words the same love is
a. 0 avtod €pwg (5.2%) c. 0 avTo¢ €pwg (79.1%)
b. 60 avtdVv Epwg (3.3%) d. 6 &pwg avtog (12.4%)

9. According to the rules for recessive accent of verbs, ti8epevoc should be accented:
a. tibepevoc  (6.3%) c. TiBepévog (9.6%)
b. tiBépevoc  (81.0%) d. T0epevog (2.7%)
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10. What is the tense of kpoyete?

a. perfect (2.7%) c. future (83.0%)
b. aorist (4.9%) d. present (8.5%)
11. The underlined words in oi moAiton €diwEav Kai Emavoav tovg inmovg can be replaced by:
a. orokew (5.2%) c. orokovteg (19.2%)
b. dwwéacar (17.9%) d. dun&avteg (56.6%)
12. Making the person of £yéla plural yields the form
a. éyendre (27.2%) c. &yerdro (17.0%)
b. &yéhwv (9.3%) d. éyehdpev (45.9%)
13. The form which agrees with (modifies) Dppewg is
a. 0ewic (19.5%) c. 0ewvids (35.7%)
b. dewvod (40.9%) d. dewvdv (3.3%)
14. Which of the following gives the command “Ask!”
a. aitmoov (42.6%) c. fimoov (26.9%)
b. aitficovca (8.0%) d. firouv (21.4%)
15. The dative plural of ypdppa is
a. ypappatog (6.3%) c. ypappaoct (72.8%)
b. yphppatt (15.4%) d. ypaupoza (5.5%)
16. The 2" person singular imperfect indicative of &yw is
a. &ye1g (22.0%) c. oynoeis (9.9%)
b. giyeg (57.4%) d. &eic (10.4%)
17. The adjective that agrees with the noun daipwv is
a. Bertiov (59.9%) c. tayb (17.0%)
b. Bertidvov (18.1%) d. Tayov (4.4%)
18. The case of cot is
a. nominative (25.3%) c. dative (64.0%)
b. genitive (4.9%) d. accusative (5.8%)
19. The tense and mood of teBepamevicévon are
a. perfect imperative (3.6%) c. pluperfect indicative (9.3%)
b. perfect infinitive (77.2%) d. perfect indicative (9.9%)

20. The best translation into Greek of the words these kings is
a. Pactreic Tveg (9.9%) c. ol avtol Pactieic (23.4%)
b. ol Bactrieic avtol  (8.2%) d. obtot1 oi Pacieic (58.0%)
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21. The name of the historian Herodotus is written in Greek as
a. ‘Hpddotog (56.6%) c. ‘Hnpodotog (15.7%)
b. ‘Hepoootog (20.6%) d. Hepdodotoc (7.1%)
22. Pick the form that completes the sentence: Tiu® tov deomOTNV.
a. peydinv (31.0%) c. uéya (11.3%)
b. neydra (10.7%) d. péyav (46.4%)
23. Who fought for the Trojans in the Trojan War?
a. 'EAévn (6.6%) c. Aydhetg (12.4%)
b. "Extop (70.1%) d. Ayapépvev (11.0%)
24. The best translation of the words &v t® iep® is
a. on the temple (0.8%) c. in the temple (85.4%)
b. to the temple (1.9%) d. into the temple (11.8%)
25. ol 01040KOVTEG are
a. students (21.2%) c. teachers (60.7%)
b. lessons (14.8%) d. graduates (3.0%)
26. Fill in the blank: 0 ‘HpaxAfic éotl kpeittov i .
a. 0 Ilepoeic (28.6%) c. tob Ilepoémg (27.2%)
b. t@v Adnvaiov (27.5%) d. Toic ABnvaioig (15.9%)
27. From poavOdve derives the English word
a. empathy (16.8%) c. mantle (11.5%)
b. mathematics (55.2%) d. thanatopsis (15.9%)

28. The form of the definite article that agrees with matpdg is

a. 0 (36.3%) c. 006 (9.1%)

b. 16 (6.3%) d. tod (48.4%)
29. €idov serves as a tense of what verb?

a. otow (7.4%) c. 0pam (69.0%)

b. el (14.0%) d. pépm (9.1%)

30. The sentence vopilouev 6ti oi otpartidtor teibovror Nuiv is virtually equivalent to:
a. ol otpati®drtar vopifovov meibesBoun Nuiv. (17.9%)
b. ol otpatidtar vopifovov 6t te@opeda. (17.9%)
C. MOTEVOLEV TOIG oTpatidTalg Ot teiBovtat. (9.3%)
d. vopilopev tobg otpatidtag meibecHor fuiv. (53.6%)

Answer questions 31-40 based on the passage below. The passage derives from a court speech in
ancient Athens. The speaker is appealing to have his disability pension from the state continued.
Here he explains the state of his family, finances, and business (téyvn).
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1 guol yap 0 pEv atnp EMmEY 00OV, TV 6& UNTEPQ Amodoavodcay
2 TEMOV UL TPEPOV, TEKVO &’ €V T® 0TK® 0VK EoTv O pe Bepamedost.
3 TEYVNV 0€ KEKTNUAL U] SUVOUEVIV OQEAETY, TV aDTOG HEV
4 YOAETDC TPATT®, 0VOEVO OE dEEOUEVOV QDTIV OV dUVOLLOL
5 gvploKey. YPRUATA OE Lol OVK EGTLV BAAN TATV TOVTMV,
6 a &0V AQEANCOE e, Kivduvehom VIO T YoAEm®TATY YeVESHL
7 oM. dtkaimg 0OV cOcaté pe, ® dvopec Adnvaiot,
8 Kol U KEAELGATE e TOVNPO TAGYEWY AdTKMG.

aoikmg unjustly

déyopon accept

dwkaing justly

kéktnuot I have acquired

ANV except

gav aeéAncé pe = “if you take away from me”

31. In lines 1-2 (épol... tpépwv), why does the speaker no longer take care of his mother?
a. She died. (69.4%)
b. The children are taking care of her. (4.4%)
c. His father took her away. (13.2%)
d. His father killed her. (12.6%)

32. The mood of mémavpat (line 2) is
a. infinitive (9.9%) c. participle (9.1%)
b. indicative (73.1%) d. imperative (7.1%)

33. In line 2 (téxva... Oepanedoet), the speaker explains what about his children?
a. They will have no inheritance if the speaker loses his stipend. (15.7%)
b. The speaker has no children at home to care for him. (68.4%)
c. They stopped taking care of their mother. (6.0%)
d. The servants in the house dislike the children. (8.2%)

34. fjv (line 3) refers to
a. untépa (line 1) (8.2%) c. ue (line 2) (8.2%)
b. téxva (line 2) (10.7%) d. t&xvnv (line 3) (72.0%)

35. In lines 3-5 (t€yvnv... edpickewv) we learn that the speaker seeks someone who will
a. make sure the speaker’s children inherit his business (14.8%)
b. assume responsibility for the speaker’s business (43.4%)
c. help him make the business profitable (34.3%)
d. help him purchase a new business (6.6%)
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36. The case and number of ovdéva (line 4) are
a. nominative singular (17.3%) c. nominative plural (19.8%)
b. accusative singular (41.2%) d. accusative plural (21.2%)

37. The case and function of ypnuata (line 5) are
a. accusative, direct object of kivdvvevow (line 6) (12.1%)
b. accusative, direct object of gvpickewv (line 5) (10.2%)
c. nominative, subject of &otwv (line 5) (65.9%)
d. nominative, modifying an understood o0déva (from line 4) (11.0%)

38. The word toyn (line 7)
a. is the object of the preposition vm6 (line 6) (50.9%)
b. agrees with pe (line 6) (4.4%)
c. is the object of kivovvevow (line 6) (19.8%)
d. agrees with yevéoBou (line 6) (23.9%)

39. What case and number is movnpa (line 8)?
a. nominative singular (17.0%)
b. nominative plural (11.0%)
c. accusative singular (33.2%)
d. accusative plural (37.9%)

40. In lines 7-8 (dwaimg...adikwc) what does the speaker tell the jurors to do and to avoid doing?
a. preserve justice and not permit injustice (18.1%)
b. save the speaker and not let him suffer (49.5%)
c. save the Athenians from injustice and forbid unjust dealings (15.9%)
d. preserve the rich justly and not let the poor suffer unjustly (14.8%)

TEAOX
The End
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APPENDIX 2. TEXTBOOKS

In previous years, teachers participating in the exam have expressed curiosity, even con-
cern, about textbooks. So this year, the committee for the first time polled participating institu-
tions about what textbooks they used, for the purpose of checking whether particular approaches
or textbooks stood at a distinct advantage or disadvantage. The results are, of course, limited.
Among the thirty-three schools participating this year, only five textbooks were used by more
than one, reflecting the number and variety of beginning Greek textbooks available. The five re-
peaters fall unambiguously into the so-called “grammar” or “reading” approaches, and so at least
provide some rough comparison in this area. Three of them (two grammar-based approaches and
one reading-based) had average scores somewhat above average and were within a 2.5% range of
each other (see chart below). The other two (one grammar-based and one reading-based) averaged
somewhat below the mean and were only 1.5% apart. The sample is still quite small, but at this
point the committee does not see anything to suggest the exam favors a particular approach, but
we will keep surveying and analyzing this information.

Textbook Type No. Students Exam Average
Grammar-based #1 39 66.1%
Grammar-based #2 17 64.4%
Reading-based #1 100 63.6%
Reading-based #2 26 52.2%

Grammar-based #3 81 50.7%



